Quantum = classical + relativistic



Arabs Real time physics

(I/O) θ’0 = θ’0 + [(I – O)/O] θ’0 
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       Isaac Newton Inverse square law γ = r/t² = k/r²  
           Is Johannes Kepler third law γ = a/T² = k/a²

Of: a³/T² = k = constant

Or, a1³/ T1² = a2³/ T2² 

Or, a1/ a2 = (T1/ T2)2/3

And (a1 - a2)/ a2 = (T1/ T2)2/3 – 1

Or (am – a e)/ a e = (Tm/ Te) 2/3 – 1

Ψ = [(Tm/ Te) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

Ψ = [(88/ 365.26) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

= 43 arc sec /century
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The Arabs said we measure along the line of sight
  Arabs real time physics: r (pink) = r 0 cosine θ (blue) + í r 0 sine θ = r 0 e í θ = r x + í r y

 And r x = r 0 + r 0 [cosine θ – 1] and (r x - r 0)/r 0 = [cosine θ – 1] and θ = cosine (r x /r 0)  

Arabs real time physics: we see and measure along the line of sight! 

Real time physics: We can not see or measure something that had not happened. We can only see and measure something that had happened. What we see and measure in not what happened. We measure in present time an event that happened in past time. That is we measure past events in present time      

Present time = present time

Present time = past time + [present time – past time]

Present time = past time + time difference 

Real time = event time + time delay 

Real time physics = Event time physics + time delays physics

Time dependent measurements = time independent measurements +

[Time dependent measurements – time independent measurements]

     Relative = absolute + [relative – absolute]
       Measured = actual + [measured – actual]

In common Terms: Image = object + [Image – object]
I = O + (I – O)

I/O = O/O + (I – O)/O

I/O = 1 + (I – O)/O

In mathematical terms:
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Real time scale

Real time = event time + [real time – event time]

Γ = t + (Γ – t)

Γ/t = t/t + (Γ – t)/t

Γ/t = 1 + (Γ – t)/t

Real time distance scale

Measured distance = actual distance + [measured distance – actual distance]

Or, r = r0 + (r – r0)

And r/r0 = r0/r0 +(r – r0)/r0

And r/r0 = 1+(r – r0)/r0

And (r/r0) θ’0= θ’0+ [(r – r0)/r0] θ’0
Real time Velocity Scale v

With r = r0 + (r – r0)

Divide by t

Then r/t = r0/t + (r/t – r0/t)

And v = v0 + (v – v0)

Real time Angular velocity scale θ’
With v = v0 + (v – v0)

Divide by r0

Then v/ r0 = v0/r0 + (v/r0 – v0/ r0)

And θ’ = θ’0 + (θ’ – θ’0)

In 1969 there was a man on the moon. In 1969 I finished 5th grade. In 1969 I knew all need to be known about circles in 5th grade arithmetic.

I knew that the circumference of a circle C = 2 π r0 where r0 is the radius. 

In 1969 I knew about circular speed v0 = 2 π r0/T where T0 is the period of rotation. Also, in 1969 I knew about angular speed θ’0 = 2 π /T0 = (v0/ r0).     

Or C = 2 π r0; v0 = 2 π r0/T0; θ’0 = 2 π /T0 = (v0/ r0)
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Angular velocity is θ’0 = 2 π /T0 = (v0/r0)

In arc second per century δ θ’0 = (v0/r0) (180/ π) [36526/T0 (days)] (3600)

.

 SHAPE  \* MERGEFORMAT 



If                                             1= 1

2 = 2
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3 = 3

Then we can write anything that is equal to itself as equal to itself like:

                                            Visual = Visual 

Actual = actual

- Actual = - actual

----------------------- Add

Visual = Actual + (Visual – actual)

Divide by actual 

Visual/actual = Actual/actual + (Visual – actual)/actual

Or

Visual/actual = 1 + (Visual – actual)/actual

Image/object = 1 + (Image – object)/object

I/O = 1+ (I – O)/O

We do not see object O but we see Image I. If we to look at planet Mercury from Earth and not from the Sun, then we are not looking at θ’0 = 2 π /T = (v0/r0) but we are looking:

At                                    θ’0 I/O = 1 θ’0+ [(I – O)/O] θ’0
Or                                    θ’0 I/O =   θ’0+ [(I – O)/O] θ’0
Quantum = classical + relativistic

The visual illusion and Modern Physicists confusion is: [(I – O)/O] θ’0
Where I is Mercury – Sun distance = 58,200,000 kilometers = r m
And O is Earth – Sun distance = 149,600,000 kilometers = r e
The Visual Illusions and modern Physicists confusion of Planet Mercury is: [(I – O)/O] θ’0 = [(r m – r e)/ r e] θ’0                                               
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Multiplying by (t/t) = 1

[(I – O)/O] θ’0 = [(r m/t – r e/t)/ r e/t] θ’0
Then [(I – O)/O] θ’0 = [(v m – v e)/ v e] θ’0                                      

[(I – O)/O] θ’0 = [(r m – r e)/ r e] θ’0 = [(r m – r e)/ r e] (v0/r0)

[(I – O)/O] θ’0 = [(v m – v e)/ v e] θ’0 = [(v m – v e)/ v e] (v0/r0)

With v0 = v m; and r0 = r m

Copernicus Illusion

[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)] 

With r m = Sun Mercury distance = 58.2 x 109
And v m = Mercury orbital velocity = 47.78 km/sec

With r e = Sun Earth distance = 149.6 x 109
[(I – O)/O] δ θ’0 = 43
Relativistic = [(r x - r 0)/r 0] θ’0

Ψ = [(r x - r 0)/r 0] (v m /r m) [(180/π) (3600) (26526/T m)] = 43 arc sec /century
Galileo stupidity equation

Ψ = [(v x - v 0)/v 0] (v m /r m) [(180/π) (3600) (26526/T m)] = 43 arc sec /century
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Einstein’s formula: 
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ψ = - 6 π GM/a c² (1 - ε²) [180/ π] [36526/T][3600] = 43 angular velocity time travel of planet Mercury
G = 6.673 x 10-11= gravitational acceleration constant

M =2x1030 kilogram = mass of the Sun 
Eccentricity of Mercury’s orbit = ε = 0.206
T= 88 days = period of Planet mercury’s rotation around the Sun

And c = 299792.458 kilometer/second =light speed in kilometers/second

And a = 58.2 x 106 km/sec = semi major axis of planet Mercury orbit

But Einstein formula only works on planet Mercury and fails everywhere else and time travel included and invisible forces included and all of it is 500 years of western civilization that can not read a telescope
Galileo Mistake is
Ψ = [(v x - v 0)/v 0] (v m /r m) [(180/π) (3600) (26526/T m)] = 43 arc sec /century
Where v x = 47.9 = mercury speed around the sun; v 0 = 29.8 km/sec

 T m = 88 days 
Ψ = [(47.9 – 29.8)/29.8] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] = 43 arc sec /century
In terms of mathematical laws:

Kepler’s law 600 years before Kepler  

Of: a³/T² = k = constant

Or, a1³/ T1² = a2³/ T2² 

Or, a1/ a2 = (T1/ T2)2/3

And (a1 - a2)/ a2 = (T1/ T2)2/3 – 1

Or (am – a e)/ a e = (Tm/ Te) 2/3 – 1

Ψ = [(Tm/ Te) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

Ψ = [(88/ 365.26) 2/3 – 1] (47.9 /58.2 x 106) [(180/π) (3600) (26526/88)] 

= 43 arc sec /century
All rights reserved
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